EARAROBEEIERT — 2 N— IBISH —F

20129F9A3H (A) 6mKiR6H

m?E%‘%E,%’éiOU L—ZC1—# ¥5%—#% (xwlw | lmEmml - |5 @) w8
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 > 3| WA 1:43.9 1-1-1-1 | 40.7| - 1 430 | BEIUEE] (EERE)
1l7lg|>v—7 77| 5.0 e} (o |7VITrECE (8)
R:FaTHN BAAITyF— HEXHTT— I
S i 5 | BEE— 1:43.9 3-3-3-2 | 40.5| — 3 432 | /INERETE (B%FE)
] 4| IE=TH b 54.0 (7€) 3 | B) #7TLy b E—F=X55T
LibL—>NTFy R BN IFNTIT YA 7805
= o5 | AMERE 1:44.0 10-10-5-3 | 39.9 | — 5 422 | BREE= (BERE)
3l7|7|7F1H22R 54.0 (3/4) (-p) | WWAEL
X LIAANAN BLAFFILY =¥ Ty — L
s Y o | FEY T AR 0 B || st 1:&4).6 7-6-9-8 [40.5| — | 6 | 456 iggg;ﬁi (B%F)
RixLIAMO— BFEHLI-—Tvo O |5 @
o b A— . —8-6- — &
sl 3| F2vT7TIVER o4 | BOR [ 8-8-6-5 | 40.7 4 | 406 Egﬂm (8%F)
AR w1 —T BiYEL (-10) (B) #BEaA-FL—va>@aE77
o = LHEfEA 144, —4—4— . = INPEEFE (BXfE
6!5/5|¥NWI7AT1+IA b R 1(34/[2)8 R ! ?_551) A=
L —ANFZXHPLF— B RU—LTUyT BRI
. BRERE : ~7-8- - BEHZ KR
2 6l PrFa—Ly b it 4 e 1(.3%9 6-7-8-7 | 40.8 2 ;1237) e
RAVRRT v BIFI/OLy b atie )
< e N EiEgE : 00— — SHARERE (AKR)
alil1|vornaoyey it 4 o (12.415/.23) 2-2-2-4 | 42.0 9 <4+1“7) i y
LA E—A>F=T7 B:OFNTTrT hid  HEER
. T . 910 _ %
glglg| PR PIBIL o7 | R 1745t;1 9-9-10-9 | 41.1 8 :129) gﬁgg% (%)
AR d—A>F—7 B35 48F pxl#ie]
TN e a e LZAER 146. == . — BRAS (KR
tolgliol 7V tzvx735 i 8 ax 1(466)3 4-5-7-10 | 42.5 10 (4_912) #E’;iﬁﬂﬂl
L9 A=TFry b Byx/vqEex HHEBS
® 1—F—@EBIERL
1T=7r= 8,1,4,10,5,6,2,3,9,7
23— — 8,1,4,5,10,2,6,3,9,7
Ja=5= 8,1,4,5,7,3,10,6,2,9
43—+ — 8,4,7,1,3,5,6,2,9,10
[ /N
B 8 210H 714K 4-8 330 e E 4-7 560 JEE 4-7-8 1,900
B B 8 110H 7-8 410 B = 4-8 570M JEE 8-4-7 4,570
4 130H4 4-7 830M B H 8-4 950M
7 1909

ABICOVWTRDTEEERROODE. TR LIV,




